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TU VOIR

ON VOIR

ON AIDER

ON DORMIR
NOUS VOIR
VOUS VOIR

TU ACHETER
ELLES DIRE

ON MENACER
VOUS AIDER
ELLES AIDER
ON RESPIRER
NOUS ACHETER
ELLES VENDRE
ON DEJEUNER
JE SE DOUCHER

1. subjonctif présent verbes
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ON DIRE

TU AIMER

TU AIDER

VOUS DIRE

ON MANGER

TU DORMIR

ON ECRIRE
NOUS AIMER
VOUS AIMER

TU MENACER
VOUS DORMIR
TU CORRIGER
VOUS GRANDIR
VOUS MENACER
TU DEJEUNER
TU SE PROMENER
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TU DIRE
ON AIMER

ON VENDRE

ON COURIR

TU MANGER

ON AVANCER

TU ECRIRE

NOUS AIDER

TU GRANDIR
ELLES AIMER

TU RESPIRER
VOUS VENDRE
ELLES COURIR
NOUS MENACER
VOUS CORRIGER
ELLES DEJEUNER
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